ECON 351


Home Work 2
Fall 2006-2007.

Due Date: 16th of October .

Q1:
Let U=XY be the utility Function, where X is a public good and Y is a private good. There are 50 consumers who earn $100 and 25 consumers make $200. The cost function for the provision of public good is represented by C=X2.

a) Find the demand function for X. [You do not need demand for Y in this case]

b) What is the optimal quantity of X?

c) What are the prices for consumers earning $100 and for consumers earning $200? 

Q2:
The private marginal benefit for commodity X is given by 10 - X, where X is the number of units consumed.  The private marginal cost of producing X is constant at $5. For each of the units of X produced, an external cost of $2 is imposed on the members of society. In the absence of any government intervention, how much X is produced? What is the gain to society involved in moving from the inefficient to efficient level of production? Suggest a Pigouvian tax that would lead to efficient level. How much revenue would the tax raise?

Q3:
Suppose we have an economy with a production possibility frontier given by:




T(X,Y)=0;


There are two consumers (1 and 2) with the following utility ere    :


1.
U = U(X1,Y1),  
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2:
V=V(X2,Y2,Y1), 
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and X1+X2=X;       Y1+Y2=Y.


Note: Consumption of Y by consumer 1 generates positive externality for consumer 2, i.e., 
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i)
Derive the necessary conditions for Pareto optimality in this economy.

ii)
Interpret these conditions by comparing to the standard case with no consumption externalities.
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